
MATERIAL

TREATMENT

DESCRIPTION

ITEM

DATE SCALE AUTHOR APPROV. GENERAL
TOLERANCES

UNI-ISO
2768-M

A
C

C
O

R
D

IN
G

 W
IT

H
 T

H
E

 L
A

W
, W

E
 R

E
S

E
R

V
E

 T
H

E
P

R
O

P
E

R
T

Y
 O

F
 T

H
IS

 D
R

A
W

IN
G

. I
T

 C
A

N
N

O
T

 B
E

R
E

P
R

O
D

U
C

E
D

 O
R

 O
T

H
E

R
W

IS
E

 M
A

K
E

 K
N

O
W

 T
O

O
T

H
E

R
 C

O
M

P
A

N
IE

S
 O

R
 C

O
M

P
E

T
IT

O
R

S
W

IT
H

O
U

T
 O

U
R

 P
E

R
M

IS
S

IO
N

DRAWING
CODE

WEIGHT

VOLUME

REV

HS0000S01
0.0 kg

F.Mezzani -24/10/2016

0.0 mm^3

-

-

-

-

Litemod

Heatsink Small with Powercon  in/out Connectors Kit

REV.

01

02

03

04

DATE

-

-

-

-

DESCRIPTION

  -

  -

  -

  -

AUTHOR

-

-

-

-

-

SHEETS

A2 Format - 594 x 420

POWERSOFT S.p.A.
Via E.Conti, 5 - 50018 Scandicci (FI) - Italy

Tel. +39 055 7350230 - fax +39 055 7356235
http://www.powersoft.it

1:1.43 1 / 1

04

SE ST9

7
4

10

1

3

10 VI000358 Vite/Screw TCCH M4x5 ISO7078 -Acc.4.8 ZN (Bossard BN381) 2

9* VI000289 Vite/Screw TBTX 2.9x9.5 DIN7981-A2 4

8* VI000356 Vite/Screw TBTX M3x5 ISO7380-1 10.9 ZN-Nera 2

7 VI000022 Distanziale/Spacer H15mm F/F SW5 M3 4

6* VI000018 Rondella/Washer Shnorr 4.3 DIN6797/A (UNI8842/A) 2

5* VI000004 Dado/Nut M4 ISO4032 (DIN934) Acc. (Bossard BN115) 2

4 VI000050 Dado/Nut con ros. dentellata M3 Acc.8 ZN (Bossard BN1364) 8

3 ME001044.02 02 Supporto Powerco 2

2* ME001053.00 02 Piastra Serigrafata 1

1 ME001043.02 02 Piastra Supporto 1

Item Cod. Rev. Description 1 Description 2 Q.ty

46
,5

3

449

434
=   =

96 77 = 
  

=

O
5,
2

N°
4 

Fo
ri
 /
 H

ol
es

 

56
,5


